

## Subtracting Negative Mixed Fractions (C)

Name: \_\_\_\_\_

Date: \_\_\_\_\_

Score: \_\_\_\_\_

Calculate each difference.

1.  $\left(-3\frac{6}{11}\right) - \left(-5\frac{4}{9}\right) =$

2.  $\left(-1\frac{5}{6}\right) - \left(-5\frac{5}{7}\right) =$

3.  $\left(-1\frac{5}{6}\right) - \left(-5\frac{3}{5}\right) =$

4.  $\left(-4\frac{5}{11}\right) - \frac{1}{2} =$

5.  $\left(-5\frac{7}{8}\right) - \left(-5\frac{2}{5}\right) =$

6.  $\left(-3\frac{3}{11}\right) - \frac{9}{10} =$

7.  $\left(-1\frac{1}{2}\right) - \frac{6}{7} =$

8.  $\left(-1\frac{2}{3}\right) - \left(-4\frac{2}{7}\right) =$

9.  $\left(-5\frac{1}{12}\right) - 2\frac{2}{7} =$

10.  $\left(-5\frac{5}{8}\right) - \frac{8}{9} =$

## Subtracting Negative Mixed Fractions (C) Answers

Name: \_\_\_\_\_

Date: \_\_\_\_\_

Score: \_\_\_\_\_

Calculate each difference.

$$1. \left(-3\frac{6}{11}\right) - \left(-5\frac{4}{9}\right) = \left(-\frac{39}{11}\right) - \left(-\frac{49}{9}\right) = \left(-\frac{351}{99}\right) - \left(-\frac{539}{99}\right) = \frac{188}{99} = 1\frac{89}{99}$$

$$2. \left(-1\frac{5}{6}\right) - \left(-5\frac{5}{7}\right) = \left(-\frac{11}{6}\right) - \left(-\frac{40}{7}\right) = \left(-\frac{77}{42}\right) - \left(-\frac{240}{42}\right) = \frac{163}{42} = 3\frac{37}{42}$$

$$3. \left(-1\frac{5}{6}\right) - \left(-5\frac{3}{5}\right) = \left(-\frac{11}{6}\right) - \left(-\frac{28}{5}\right) = \left(-\frac{55}{30}\right) - \left(-\frac{168}{30}\right) = \frac{113}{30} = 3\frac{23}{30}$$

$$4. \left(-4\frac{5}{11}\right) - \frac{1}{2} = \left(-\frac{49}{11}\right) - \frac{1}{2} = \left(-\frac{98}{22}\right) - \frac{11}{22} = \left(-\frac{109}{22}\right) = \left(-4\frac{21}{22}\right)$$

$$5. \left(-5\frac{7}{8}\right) - \left(-5\frac{2}{5}\right) = \left(-\frac{47}{8}\right) - \left(-\frac{27}{5}\right) = \left(-\frac{235}{40}\right) - \left(-\frac{216}{40}\right) = \left(-\frac{19}{40}\right)$$

$$6. \left(-3\frac{3}{11}\right) - \frac{9}{10} = \left(-\frac{36}{11}\right) - \frac{9}{10} = \left(-\frac{360}{110}\right) - \frac{99}{110} = \left(-\frac{459}{110}\right) = \left(-4\frac{19}{110}\right)$$

$$7. \left(-1\frac{1}{2}\right) - \frac{6}{7} = \left(-\frac{3}{2}\right) - \frac{6}{7} = \left(-\frac{21}{14}\right) - \frac{12}{14} = \left(-\frac{33}{14}\right) = \left(-2\frac{5}{14}\right)$$

$$8. \left(-1\frac{2}{3}\right) - \left(-4\frac{2}{7}\right) = \left(-\frac{5}{3}\right) - \left(-\frac{30}{7}\right) = \left(-\frac{35}{21}\right) - \left(-\frac{90}{21}\right) = \frac{55}{21} = 2\frac{13}{21}$$

$$9. \left(-5\frac{1}{12}\right) - 2\frac{2}{7} = \left(-\frac{61}{12}\right) - \frac{16}{7} = \left(-\frac{427}{84}\right) - \frac{192}{84} = \left(-\frac{619}{84}\right) = \left(-7\frac{31}{84}\right)$$

$$10. \left(-5\frac{5}{8}\right) - \frac{8}{9} = \left(-\frac{45}{8}\right) - \frac{8}{9} = \left(-\frac{405}{72}\right) - \frac{64}{72} = \left(-\frac{469}{72}\right) = \left(-6\frac{37}{72}\right)$$